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CyMMa ¥ pa3HOCTh CUHYCOB
CyMMa ¥ pa3HOCTh KOCUHYCOB



IIOBTOPECHUE



YIPOCTUTH BhIPAXKECHUE:

(sin(ax +15°) +sin(a —15°))-sin15°

Pemenue:
(sin(ar +15°) +sin(a —15%))-sin15° =

= (sino -cos15° +cosa -sin15° +

+sina -cos15° —cosca -sin15%) -sin15°
=2sina -cos15° -sin15° =sin(2-15°) -sina =

. ) 1 .
—sin 30° -sin « :§sn1a



CyMMa CUHYCOB:

sin(x+y)=sinXcosy + cos Xsiny;
sin (s +t) + sin (s - t); x+) Y Y

sin(s +t) =sin s cos t + cos s sin t;

sin(x - y) =sin xcosy - cos xXsiny;

sin(s -—t) =sins cost-cosssint;

sin(s +t) + sin(s - t) = (sin s cos t + cos s sin t) + (sin s cos t - cos s sin t);

sin(s +t) +sin(s-t) =sinscost+ cosssint+sinscost-cosssint;




CyMMa CHHYCOB:

sin(x+y)=sinXcosy + cos Xsiny;
sin (s +t) + sin (s - t); x+) Y Y

sin(s +t) =sin s cos t + cos s sin t;

sin(x - y) =sin xcosy - cos xXsiny;

sin(s -—t) =sins cost-cosssint;

sin(s +t) + sin(s - t) = (sin s cos t + cos s sin t) + (sin s cos t - cos s sin t);

sin(s +t) +sin(s-t) =sinscost+ cosssint+sinscost-cosssint




CyMMa CHHYCOB:

sin(x+y)=sinXcosy + cos Xsiny;
sin (s +t) + sin (s - t); x+) Y Y

sin(s +t) =sin s cos t + cos s sin t;

sin(x - y) =sin xcosy - cos xXsiny;

sin(s -—t) =sins cost-cosssint;

sin(s +t) + sin(s - t) = (sin s cos t + cos s sin t) + (sin s cos t - cos s sin t);

sin(s+t) +sin(s-t) =sinscost+cosssint+sinscost-cosssint;




CyMMa CUHYCOB:

sin(x+y)=sinXcosy + cos Xsiny;
sin (s +t) + sin (s - t); x+) Y Y

sin(s +t) =sin s cos t + cos s sin t;

sin(x - y) =sin xcosy - cos xXsiny;

sin(s -—t) =sins cost-cosssint;

sin(s +t) + sin(s - t) = (sin s cos t + cos s sin t) + (sin s cos t - cos s sin t);
sin(s +t) +sin(s-t) =sinscost+ cosssint+sinscost-cosssint;
sin(s + t) + sin(s - t)=2 sin s cos t;

X=s+t y=s-t

X+y=s+t +s-t X-y=s+t-(s-t);
X +y=2s; X-y=s+t-s+t
S=—X;y; X -y =2t
X+y.
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Pa3HOCTH CMHYCOB:
sin x - siny = sin x + sin(- y);

= —+— N _

=

> —+ 37 _
= z

- siny = sin (- y);




[Tpumep. YopocTuts Beipaxenue sin 77° - sin 17°.

Penenue.
+ X 4+ 3
X +
S = y,'
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_ >= —+ N _
= —— — >
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YIPOCTUTH BLIPAKEHUE:

(sin(ax +15°) +sin(a —15°))-sin15°
Pemenue:

(sin(o +15°) +sin(a —15°))-sin15° =

Ca+15"+a—15° a+15"—a+15°
= 2s1n - COS =
2 2
= 2sinoa -cos15° -sin15° =sin(2-15°)-sina =
. . 1 .
—sin 30 -sinoa = —sin «

2



CyMMa KOCHUHYCOB:

cos (s+t)+cos(s-t);

cos (s +t) + cos(s-t)=cosscost-sinssint+cosscost+sinssint;

cos (s+t)+cos(s-t)=2cosscost;

cos (x+y)=cosxcosy-sinxsiny;

cos (X-y)=cosxcosy + sinxsiny;

X=S+t y=s-t
X + X+
s = XV g = XtV
2 2
>= —+— N
= ——

N




[Tpumep. YOpocTuts BeIpaxkeHue cos (x + 2y) + cos (3x - 2y).

Pemienue.
cos (x + 2y) + cos (3x - 2y) = == — == ;_ ="
< — xzﬁ; 2 cos 2x cos( -(x - 2y)) = 2cos 2x cos (x -2y);

OtBeT: cos (x + 2y) + cos (3x - 2y) = 2cos 2x cos (x -2y). -

cos(-t)=cost;




Pa3HOCTb KOCUHYCOB:

cos (s +t) - cos (s - t);

cos (s+t)-cos(s-t)=cosscost-sinssint-cosscost-sinssint;
cos (s+t)-cos(s-t)=-2sinssin¢;

X=S+t; y=s-t
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cos (x+y)=cosxcosy-sinxsiny;

cos (X-y)=cosxcosy + sinxsiny;
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Pemure

* NoNo538, 540 yueOHuKa



